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1. Please translate the follow passages into Chinese. 50%

MOWING

There was never a sound beside the wood but one,

And that was my long scythe (§./]) whispering to the ground.
What was it it whispered? I knew not well myself;

Perhaps it was something about the heat of the sun,
Something, perhaps, about the lack of sound—

And that was why it whispered and did not speak.

It was no dream of the gift of idle hours,

Or easy gold at the hand of fay ({ll]Z) or elf:

Anything more than the truth would have seemed too weak
To the earnest love that laid the swale (Z;2) in rows,

Not without feeble-pointed spikes of flowers

(Pale orchises), and scared a bright green snake.

The fact is the sweetest dream that labour knows.

My long scythe whispered and left the hay to make.,

2. Please talk about your favorite movie in 200 words. 50%
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Read the following paragraph and answer the questions listed below.

We've made tremendous strides in mobile phone technology -- but how about the actual weight of the
phones? One of the first cell phones weighed 2.4 pounds, which is like a brick according to modern
standards. Smartphones today weigh in right around 0.3 pounds, which is an 87.5% decrease in just a
few decades. — IEEE Facebook post

Vocabulary:

tremendous: very great in amount or level, or extremely good

stride: an important positive development

brick: a rectangular block of hard material used for building walls and houses
decade: a period of ten years, especially a period such as 2010 to 2019

Questions:
In your opinion, what are the reasons that make Smartphones today achieve such a weight decrease in

just a few decades? Why do you think so?
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L FHIS R TR R BT T R 7
(A) M~ S AFHBBIP A & A E TR -
(B) m~ AT ABIPFT &N EHTEER -
(C) BREAEE — 15100 c.c. SHBIFFEBHEANTRL -
(D) HEHF - SEEHMAFT 2N EEEY -
(B) pom A T3S i & B T 50 -
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- TS FER Sy ¥E e 25 TEHE ?
(A) PREEEZJE — H,SO, + 2KOH — K580, + 2H,0
(B) BEugTAISZFE — Pb(NOs), + 2KI — 2KNO, + Pbl,
(C) i E — C3Hg + 50, — 3CO, + 4H,0
(D) SMEER — Hy(g) + Fo(g) — 2HF(g) (B) DLEEIE

4. THUIRAREA AR T Z IEHE ?
(A) (ERFZEMET - B L2 AEEIR AL -
(B) AFTEEAAYFHEEE 4 S BRI HE - (C) ARt T AR R SR -
D) A~B-CHEE- (E) A~BEE-

T i S s Y ?
A) B (B) KEMERE (O £RWEH ©) ME®E  E) MEEE
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N RS R ?
(A) ZEHEZIE  (B) fES (C) DHEREFE  O) ULEEE

(@)

7. NI —sA b eI 2R FRE T ?
(A) CH,0, NBr, (B) NO,, Ca(NO;), (C) CaF,, NaNH,
(D) PCls, LiBr (E) KOH, SF,
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9. THIRATA S E RIS IERE ?
(A) BEAE > FrENEETFERE KA BERA -
(B) FrENEMERETE B A B IAAK T -
(C) JBEAS - KBS TUATR /KR RARTEK PRSI E AR -
(D) A-BEE (E) B-CEE

10. THIBHTE/KAY RO & ERE ?
(A) SRS - ST - (B) REEAEERYERTIAE
(C) FILARG RT3 Hatsi ARl - (D) BAEEFE - (B) LLEEE

11. THIREFE BB TR A 22 EHE ?
(A) PEESE(LEE (B) [R{ESZFES - (C) HEANTE ~ 2N e s
D) A-CHEE (E) DL EEZ -

— - FHERE : (56%)

. SFEREE TTEE ) T EEUERE ) TEORIIRE ) B T IR e (16%)
2. FEERUANGELEY FYIZEREALEVIIERIE  F - K- (8%)

3. B H,~CO,~ Ny~ H,S:
(1) WREsr+H rﬁ M E 7 BB LA ERN S TR S L R
ZHEA - W H P ORFRUEREIE 7 (14%)
(2) LR MES T 7 RAEE? (4%)
(3) WLy FEndE ? HniRBHERZ D ? (6%)

4. - SFERHINE B s e M AR e SR /R BRIRE R © (8%)

BrLEHBEREAEERILER R2RAHK2ER



